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1 |dtiE
2 |EHE
3 |BEFE 4.4E+2 440.0 4400
4 |EHE
5 (AR 1.6E+3 1,600.0 1,600.0
6 IR
7 [EER
8 |ZWE
9 [WHARE
10 |HBER
REEET! 7.0E-1 0.7 1.2E+2 121.0 121.7
12 |TER
13 |HREER
14 |[#E)E 9.5E+1 95.0 95.0
15 |#iRE 1.9E+0 1.9 3.0E+0 3.0 49
16 |[EWE
17 |RIIE
18 |f&@HE 1.2E+1 12.0 6.1E+1 61.0 73.0
19 [ILEE
20 |RHE
21 |IKEBR 1.0E+0 1.0 1.7E+3 1,700.0 1,701.0
22 |E&mER 9.6E+1 96.0 4.8E+1 48.0 144.0
23 |EBHR 6.1E+1 60.7 60.7
24 |=ZER 4,6E+1 46.0 46.0
25 |#HER 5.1E+0 5.1 1.7E+1 17.0 22.1
26 |FARRT
27 | KRFF
28 |EER 6.8E+1 68.0 68.0
29 |ZRR 3.0E+0 3.0 1.0E+0 1.0 40
30 |FnFLER
31 |BHRE
32 |BRE
33 |FWE
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35 |lLOR
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37 |BNR
38 |BIRER
39 |EER
40 |fEREE 1.0E-1 0.1 0.1
41 [EER
2 |RIBER
43 |RERR
44 | KHR
45 |FIFER
46 |EEER
47 |[HiER
£ H 5.6E+2 559.7 3.8E+3 3,820.8 4,380.5
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